| ¢ 10.2 Similarity -~ jJun “‘(‘\““F ,c,\’\”\i
| : X ARG
_1_)‘Solve each proportion. / vo Q/
“ ? b) c) d)
g,8_x,¢ b.2_m,6 8 _ .5
378 ST 6 [ 4 3x
22\ =74 5 _ X, 7% Ge 1= 2Rl
AR = Jo 2 == P e
X 2‘ K b A ,7[/—*% = \ O k:
= J° J 2
| . et 7 X Zx: !
e . . 2 » v
, Hnhen x e N _ ’
P X >l = i § i poth AoMerares x_4>£_2_x_
4. 12 il A_Q_/\OM\M»-*OC 2 X6
2 = 52 oross MOVHPYY (T H)& )= 2(2x) (x5 1M ¥ L= o
X K—lpr-bxa2d = HX (x-)(p=123=0 &
Ceox s el ER
. b‘-ﬁ HA

L N

If two shapes are similar, then this means that laS=in :uf }4 "\Q CL/‘ g\ B8, Are
C@Mroeﬁﬂ' % cely t&g"!\ti! pg ,z;ﬁ.& OS2 ?r-ory r—‘—ﬂ Q/‘WL*‘

2) rdentlfy corresponding sides and correspondmg angles of each figure.
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3) Given that the two figures are similar, find the missing length.
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4) The polygons in each pair are similar. Find the scale factor of the polygon on the right to the polygon on the
left. Then state if it is an enlargement or a reduction.
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5) Find the length indicated.
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A dilation is a type of transformation that takes a figure and either enlarges it or reduces it based on a scale
factor. The original figure is called the <x{\ M%b and the figure after you have dilated is called the

A& ¢ . Dilations happen around a point of dilation. -
In order to perform a dilation, you can take each x and '\‘f'(:oovr‘d“i‘r‘ié'te and multiply it by the scale factor. "-F ’
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6) Use the origin as the center of dilation. Plot the preimage using the points given, then use the scale factor
to find the coordinates of the vertices of the image, and plot them.
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